Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

> Date: May 03, 2016 Invitation to Bid No. 16-04-76

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-03- 232	Catering Services-Meals & Snacks (2nd & 3rd quarter)	202,250.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	рах	Meals & Snacks		202,250.00	202,250.00
		TOTAL			202,250.00

Deadline of Submission Technical & Financial Documents	May 12,2016 not later than 12:00 o'clock noon
	<u>May 12, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable bid fee of Php 500.00 only

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 03, 2016 Invitation to Bid No. 16-04-74

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO. PARTICULARS		APPROVED	FUND SOURCE	
FR NO.	PRINC. PARTICULARS		FOND SOOKEE	
100-16-03-	Catering Services-Meals & Spacks (2nd & 3rd quarter)	228,125.00	General Fund	

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	рах	Meals & Snacks		228,125.00	228,125.00
		70741			
		TOTAL			228,125.00

Peaume of Submission Technical	May 12,2016 not later than 12:00 o'clock noon
Opening of Bids	<u>May 12, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 03, 2016 Invitation to Bid No. 16-04-87

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO. PARTICULARS		APPROVED	FUND SOURCE
FRINO.	PRINC. PARTICULARS		FORD SOORCE
300-16-01-	Pakyaw Labor of Contract for the Construction of Evacuation Center	365,980.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	lot	Pakyaw Labor of Contract for the	1	365,980.00	365,980.00
		SCOPE OF WORK			
		1. Concreting Works			
		2. Masonry Works			
		3. Formworks and Scaffolding			
		4. Roofing Works			
		TOTAL			365,980.00

Deaume of Submission Technical I	May 12,2016 not later than 12:00 o'clock noon
8. Einancial Documents	
Opening of Bigs	<u>May 12, 2016</u> at 2:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson

Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: May 03, 2016 Invitation to Bid No. 16-04-73

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR I	NO.	PARTICULARS	APPRO BUDGET		FUND S	OURCE
100-1	.6-03-	Spare Parts for 4 wheels Vehicle	202,14	0.00	Genera	l Fund
STOCK NO.	UNIT	ITEM DESCRIPTION		QTY	UNIT COST	TOTAL COST
1	pcs	Tire (195-R15C)		2	4,600.00	9,200.00
2	pcs	horn (24V) W/ high and low		2	480.00	960.00
3	pcs	cross joint		2	780.00	1,560.00
4	set	break shoe		4	1,600.00	6,400.00
		FOR HYUNDAI SAA 5289				-
5	pcs	Universal joints		3	650.00	1,950.00
6	pcs	engine support		4	390.00	1,560.00
7	pcs	shock absorber		4	1,700.00	6,800.00
8	pcs	rim (front w/ lock ring, 700 x 16)		2	1,750.00	3,500.00
9	pcs	rim (rear w/ lock ring 700x16)		4	1,750.00	7,000.00
10	pcs	power relay (24 volts)		2	350.00	700.00
11	pcs	battery (12 volts, 11 plates)		2	3,500.00	7,000.00
12	pcs	horns (high & low, 24 volts, heavy duty)		2	1,980.00	3,960.00
13	pcs	side mirror		2	320.00	640.00
14	рс	clutch lining		1	2,800.00	2,800.00

16 17	set set	tieord END lift spring front (3 x 49 inches)	1 2	1,600.00 1,300.00	1,600.00 2,600.00
17	pcs	head light bulb halogen (24 volts)	2	270.00	540.00
19	set	brake shoe (2 pcs/set)	2	1,750.00	3,500.00
20	set	brake pad (2 pcs/set)	2	750.00	1,500.00
		FOR MITSUBISHI CANTER SHE 756			
21	pcs	rubber cap (Brake master)	6	100.00	600.00
22	pcs	rubber cup (clutch master)	6	80.00	480.00
23	рс	clutch lining	1	3,950.00	3,950.00
24	рс	horn (24V) w/ high and low	1	2,600.00	2,600.00
25	pcs	brake pad	4	650.00	2,600.00
26	pcs	brake lining	8	1,000.00	8,000.00
		FOR ISUZU CROSSWIND (SGM 155)			-
27	set	steering assy w/ transmission lever assy.	1	3,800.00	3,800.00
28	pcs	clutch cable	2	1,650.00	3,300.00
29	pcs	tyre w/ inner tube (14 x 195)	4	5,820.00	23,280.00
30	pcs	rubber cap (Brake master)	6	100.00	600.00
31	pcs	rubber cap (clutch master)	6	80.00	480.00
		FOR MITSUBISHI L-300 (SHA 284)			-
32	pcs	tyre w/ inner tube (12 x 155)	4	2,280.00	9,120.00
33	pairs	brake pad	2	650.00	1,300.00
34	pairs	brake shoe	2	850.00	1,700.00
		FOR SUZUKI MULTICAB (SLE 610)			-
35	pcs	rubber cap (Brake master)	6	100.00	600.00
36	pcs	rubber cap (clutch master)	6	80.00	480.00
37	sets	butterfly	2	2,300.00	4,600.00
		FOR FOTON AMBULANCE (SKP 949)			-
38	pcs	tyre w/ inner tube (15 x 195)	4	7,350.00	29,400.00
•		FOR KIA K2700 (SAA 4535)	-		-
39	pcs	tyre (20x70R14C	2	2,500.00	5,000.00
40	pcs	interior (205x70R14C)	2	1,000.00	2,000.00
41	pcs	tyre (145RR 6P.R)	4	4,000.00	16,000.00
42	pcs	interior (145RR 6P.R)	4	1,000.00	4,000.00
43	pcs	oil filter	2	1,500.00	3,000.00
44	pcs	clutch rubber cup	2	300.00	600.00
45	pcs	break rubber cup FOR KIA FRONTER	10	1,000.00	10,000.00
		FOR KIA FRONTER TOTAL			-
		IUIAL			202,140.00

Deaume of Submission Technical	May 12,2016 not later than 12:00 o'clock noon
& Einancial Documents	
Opening of Bids	May 12, 2016 at 2:00 o'clock in the afternoon at Conference
	room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

> RAFAEL L. ALCONES BAC Chairperson